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020202 [똑같이 나누는] 나눗셈 개념 연습  B
3-1 � 나눗셈

12 ÷ 3 = 15 ÷ 3 =

사탕 12개를�3명에게�

똑같이�나누어�주면

12
사탕 15개를�3명에게�

똑같이�나누어�주면

15

× 3 = 12 × 3 = 15

12 ÷ 3 = 4 개씩 15 ÷ 3 =

8 ÷ 4 = 8 ÷ 1 =

사탕 8개를�4명에게�

똑같이�나누어�주면

8
사탕 8개를� 1명에게�

똑같이�나누어�주면

8

× 4 = 8 × 1 = 8

8 ÷ 4 = 8 ÷ 1 =

8 ÷ 8 = 7 ÷ 7 =

사탕 8개를�8명에게�

똑같이�나누어�주면

8
사탕 7개를� 7명에게�

똑같이�나누어�주면

7

× 8 = 8 × 7 = 7

8 ÷ 8 = 7 ÷ 7 =

16 ÷ 2 = 27 ÷ 3 = 5 ÷ 1 =

× 2 = 16 × 3 = 27 × 1 = 5

16 ÷ 2 = 8 27 ÷ 3 = 5 ÷ 1 =

21 ÷ 3 = 35 ÷ 7 = 24 ÷ 8 =

× 3 = 21 × 7 = 35 × 8 = 24

21 ÷ 3 = 35 ÷ 7 = 24 ÷ 8 =
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